EARAROBEEIERT — 2 N— IBISH —F

20185F4A8H (B) 1H=%12H

M C3—3 C3 #7%—f% ‘ (XM&] W ‘ (sl — | & (&) 14000 &
[A&4£] 1 7 :200,000™ ~ 23#%&:60,000H”  33&:30,000H”  437:20,000MH .~ 57&:10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ZIE :32. -3-3- . — THER (B
i NEPESYNI P 6 5%_0 1(3_2)9 4-3-3-2 | 39.7 2 zzg)s e
LA N—3IGA—L BTAVT S e ]
> i 44 | ERE 1:32.9 1-1-1-1 [40.3 | — 3 | 502 |NIHBE (FH)
2055 |VI>TY—=") 56.0 (7€) (a) | EHBE
R:hE—XO—F— B:7vAKY—7— ellikse)
. R FREER : 00— — ITHER (FH)
37| 7| HrFr—nzre #o4 7 v I I R " E e
R:bh—trhRwLRY B:OFN BR& 71X
A EFE . —g-g- — AR (SH)
N BECEEES e i 5 %31__0 1.(323).6 8-8-8-6 | 39.4 10 51:157) 1)@%1%
Rix4avR—-5— B:kya-I7L—-) Jsw  1EfE
EP it 6 | BRE—H 1:33.8 6-4-4-4 |40.3| — 7 42 | NIHBE (FH)
5 11 778>% 54.0 ) (-g) | EHER
x40 BNV TFry b INT7—L4
= AARA M :34. -7-7- 5| - e fi— (&)
N BEYE i 6 s 1(351)5 7-7-7-7 | 40.5 6 3269) il
R:xA1ZG7—R B:REZ—ISL—FK BRT7— L
= Vs i 4 | KIBKE 1:34.6 5-6-5-5 |40.8| — 4 437 | HEEX (SH)
1 : NEEEETPE 540 (1/9) o | mEER
L7V FFE2T71 BiKRkybNTrpyiar FRESE
S 4 6 | EFRNE 1:34.9 10-10-10-9 | 89.9 | — 5 478 | BILRE (BH)
818(10 X437 70%% 56.0 (a 1/2) (-5) RIS
LN=Y7514 B:J7—k—1)— EE SIS
N ERFHR :35. -9-9- . — BIFFRET (FH)
olglg| -7k o7 Rz 1(315)1 9-9-9-8 | 40.8 8 <4+816) magriﬁ
RN=VFINTya BI Yy Y 1WA #h=
¢ TN ANER :37. -5-6- 9| - AREE (SH)
wolzlg |V 77yvar it 4 53 (1&3{7;) 3-5-6-10 | 43.9 9 (4_833) t/i‘?k“eIE
R:TLCFFE2Te BiI-JLAFI FREMKS
® 1—F—@EBIERL
1T=7r= 5,7,8,3,4,1,6,2,9,10
20—F— 8,78, 1:8,4,6,2,9,10
Ja=5= 5,7,3,1,4,8,6,2,9,10
43—+ — 5,3,7,1,4,2,6,9,10,8
[ /N
B 3 750 714K 3-5 220M B 3-5 1,340 JEE 3-5-7 200M
B B 3 130H4 3-7 150H B = B 1,780 JEE ST 3,940
5 120 5-7 130H B H 3-5 2,490H
7 100

ABICOVWTRDTEEERROODE. TR LIV,




